
1) b

a o c
Measure angle boc 

Answer: ____________

2) b

a o c
Measure angle boc 

Answer: ____________

3) Find area of triangle
h = 5086 ft, a = 7216 
ft,
b = 7918 ft, c = 8719 
ft

Answer: ____________

4) Find area of triangle
h = 5086 ft, a = 7216 
ft,
b = 7918 ft, c = 8719 
ft

Answer: ____________

5)

A B = 67
Find the Angle at side A.

Answer: ____________

6) 8099.6 + 8826.2

Answer: ____________

7) (-6909) - (-9456)

Answer: ____________

8) A number is chosen at random from 1 
to 75. Find the probability of selecting 
divisors of 16.

Answer: ____________

9)

'Name the type of angle.

Answer: ____________

10) Convert the following fraction into a 
mixed number: 48/16

Answer: ____________

11) Convert the following fraction into a 
mixed number: 48/16

Answer: ____________

12) Find the mode of the following set of data:

191, 191, 191, 191, 127, 127, 127, 
127, 127, 127, 127, 16, 16, 16, 16, 
16, 16, 16, 50, 50, 50, 50

Answer: ____________

13) Increase 90 by 1/30

Answer: ____________

14) 69 x (-93)

Answer: ____________

15) Find perimeter of 
square having each 
side (s) equals 7842 cm

Answer: ____________
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16) Find perimeter of 
square having each 
side (s) equals 7842 cm

Answer: ____________

17) 1005.2 + 3052

Answer: ____________

18) Find perimeter of 
square having each 
side (s) equals 6340 ft

Answer: ____________

19) Find perimeter of 
square having each 
side (s) equals 6340 ft

Answer: ____________

20) Simplify 34:50

Answer: ____________

21) Find the mean of the following set of data:

46, 0.9, 0.3, 66, 0.8

Answer: ____________

22) Find the mode of the following set of data:

2, 2, 2, 2, 2, 2, 17, 17, 17, 17, 17, 
17, 69, 69, 69, 69, 69, 69, 69

Answer: ____________

23) 8/4 - 22/18

Answer: ____________

24) 342/4 ÷ 82/3

Answer: ____________

25) Share 92 in the ratio 14:32

Answer: ____________

26) Convert the following mixed number 
2020/4 into an improper fraction.

Answer: ____________

27) 7793.9 + 4729

Answer: ____________

28) Share 87 in the ratio 9:78

Answer: ____________

29) Find perimeter of 
rectangle having 
sides a = 8651 m 
and b = 7127 m

Answer: ____________

30) 'What is the probability of rolling 
factors of 15.when rolling a dice

Answer: ____________
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31) Find the percentage change from 430 
to 219.3

Answer: ____________

32) Share 31 in the ratio 24:7

Answer: ____________

33) Find area of 
rectangle having 
sides a = 9619 m 
and b = 8233 m

Answer: ____________

34) 1/80 of 160

Answer: ____________

35) 19/4 + 25/11

Answer: ____________

36) 14553.9 ÷ 927

Answer: ____________

37) Find perimeter of 
triangle
a = 9529 cm, b = 
9817 cm,
c = 9888cm

Answer: ____________

38) Increase 117 by 2/39

Answer: ____________

39) Increase 117 by 2/39

Answer: ____________

40) Increase 117 by 2/39

Answer: ____________

41) 7856 - (-7957)

Answer: ____________

42)

'Name the type of angle.

Answer: ____________

43) Increase 216 by 1/27

Answer: ____________

44) Find perimeter of 
rectangle having 
sides a = 9802 ft 
and b = 9616 ft

Answer: ____________

45)

'Name the type of angle.

Answer: ____________
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46) Find the median of the following set of data:

29, 31, 32, 26, 30, 12, 18, 32, 15, 
33, 14, 35, 17, 18, 8, 5, 3, 2, 26, 39

Answer: ____________

47)
36  Find Volume of 
               32       Cylinder 

Answer: ____________

48) 'What is the probability of rolling a 
multiple of 4.when rolling a dice

Answer: ____________

49) (14 - 6) + 5 x 5

Answer: ____________

50) (14 - 6) + 5 x 5

Answer: ____________

Total: ___ / 50
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Answers:

1) 55 2) 55 3) 20135474ft 4) 20135474ft 5) 113 6) 16925.8 7) 2547

8) 1/15 9) Right 10) 3 11) 3 12) 16 13) 93 14)

15) 31368cm 16) 31368cm 17) 4057.2 18) 25360ft 19) 25360ft 20) 17 : 25 21) 22.8

22) 69 23) 7/9 24) 351/52 25) 2 : 90 26) 25/1 27) 12522.9 28) 1 : 86

29) 31556m 30) 1/2 31) -49% 32) 1 : 30 33) 79193227m 34) 2 35) 71/44

36) 15.7 37) 29234cm 38) 123 39) 123 40) 123 41) 15813 42) Right

43) 224 44) 38836ft 45) Right 46) 23.5 47) 28952.917895484 48) 1/6 49)

50)
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